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Review for Quiz 3.1-3.6

These problems pr0V1de an overview, but we recommend that you also review all homework problems
* from the unit,
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#2) Find y" using implicit differentiation. x'+y' =16
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#6) Find the equation of the tangent line to the curve at the given point: y = Sin(sin x) (72', O)
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Use the table for #7, #8, and #9:
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#9) If H(x)= ln(F(x)), then H'(3) =
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#11) Find an equatlon of the tangent line at the point P = (1 1) to the curve:
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#12) Find the slope of the tang;nt line at the poth (1,1) to the curve: =2x% —
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#15) Find the derivative: ¥ = xt+1 #16) Find the derivative: JV = tan ;:1“
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#17) Find the derivative; ¥ = (x +7x +-2)~§
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#19) Find the derivative: ¥ = 1+vx* +1
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#18) Find the derivative: Y =€

#20) Find the derivative: Y = 7%
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